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Title: 
ULCS CF State Table - atomic ASEs

PDR Submission Date:  


14/02/2002

Summary of Defect:

The referenced note (sub-point 2) states "the new state that the CF enters after the action has been performed." While the following paragraph specifies that embedded ASEs are treated as atomic entities, and "the CF responds to any resulting output events from the ASE ...".  In the state table cell STA0 and D-START req - "if p0 & ~p6: STA1 A-ASSOC req"

If processing through the ACSE ASE is followed, the CF will process the P-DATA req before returning to the CF and therefore will be in the wrong state.

Proposed SARPs amendment:

Change Paragraph 4.3.3.1.2.2 to the following:

"4.3.3.1.2.2
For the purpose of specifying CF behaviour, embedded ASEs (ATN-App ASE, ACSE, and ASO) shall be treated as atomic entities, such that when an input event is invoked by the CF, that event is processed to completion by the ASE and any resulting output events from the ASE are queued for the CF, all within the same logical processing thread.

< add additional Note>:

Note:-
This provision means that in the case that a state transition is associated with the event, that the state transition occurs between the completion of the ASE and before the CF processes the associated ASE output.

28 Feb 2002: SME Commentary:

The PDR is not understood.  When the A-ASSOC req is invoked, and the state transitions to STA1, ACSE is assumed to behave as an atomic entity.  That is, it is a "black box" which accepts the A-ASSOC req as input and, all being well, emits a P-CONNECT req (NOT P-DATA as stated by the PDR).  The CF state table accepts the P-CONNECT req from ACSE lower service boundary, passes it to the presentation service and remains in STA1.  It is therefore proposed to REJECT this PDR.

Email from Jim Moulton, 28 Feb 2002

The question is ...

When does the state change occur?  If it occurs after the ACSE finishes processing and before the event from the ACSE is processed, then it is okay (but still unclear).

If the state change occurs after ACSE processing -- which includes processing of events to the CF from ACSE, then the state change must take place before calling ACSE.

In otherwords, the CF must be in STA1 before processing the P-Connect req -- how does it get there before the P-Connect req event?  This actually happened in our implementation -- it is threaded in such a way that the events are processed sequentially -- without returning back to the CF until the entire thread D-start req -> A-associate req -> P-connect req -> supporting service.  At this point it "un-winds" back through the recursive calls.  

